spectrum number fa (107" erg em™2s7'47") fa (1077 erg em™2s7'47")

& and x

0.5

1.5

0.5

80

60

40

20

1.5

Mean Spectrum

Fe2 6% 040 km/s
BLR 3000 NLR 900 km/s

rm972

5000 6000

» @)

8000

RMS Spectrum

BLR 3000 NLR 900 km/s
ey W B RN A SRttt

TR

B "l'l'l' I"I L

raw

RMSx

11 I 1 IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIImIIIIIIIIIIIIIIIII ]

4000 5000 6000 8000 10060
A (B)

x(A\t) = ( Data — Model AC5 ) / o X
/(413550-5076)=0.762=>1.007
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4 = 0.012(17) x = 0.833(69) => 0.833(69)
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u = 0.0117(82) x = 0.829(28) => 0.828(29)
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